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math import exp rom math )
elem = [5, 1.5, 3, 0.75] elem = [5, 1.5, 3, 0.75]
" - elem_exp = list(map(exp, elem))

i numpy np
elem = np.array([5, 1.5, 3, 0.75])

elem_exp = np.exp(elem)

elem_éxp =[]
i in elem:
elem_exp.append(exp(i))

elem_exp = [exp(i)

niveis = [5, 1.5, 3, 0.75] ¢ map (4 , element T
acao = [1 v . niveis = [5, 1.5, 3, 0.75] niveis = np.array([5, 1.5, 3, 0.75])
nivel niveis: ArED ) acao = niveis[niveis >= 2]

nivel >= 2: decisao(nivel):

acao.append(nivel) if nivel >= 2: nivel

acao = list(filter(decisao, niveis))

ELGES pd

statsmodels.formula.api

proj = [1, 1, 1, 1, 2, 2, 2, 2,
3, 3, 3]

5 Al il 2, 3

2 3, 4, 5,
2 4]
2
9]
= zip(proj, X, y)
ol = ['proj’, 'x', 'y']
= pd.DataFrame(lista, columns

ajuste(df):
ml = smf.ols('y ~ x', df).fit()
uni_proj: ml.params
d_i = d.loc[d[ 'proj'] == i]
ml = smf.ols('y ~ x', d_i).fit() df_coef = d.groupby( 'proj’).apply(ajuste)
coef.append([i, ml.params[@], ml.params[1]])

= ['proj', 'b0', 'b1']
df_coef = pd.DataFrame(coef, columns = col)




